Marking Scheme-Practice Paper 1

COMPUTER SCIENCE (CPU)
(SUBJECT CODE: 906)

Note: Apart from the marking instructions, a teacher can evaluate at his

discretion.
sAte: 37chel TR & 3relar, Teh feTeh 379el TAdTaR Hediched X Hehell ¢

Maximum Marks: 40

General Instructions:

i.
ii.
iii.
iv.
V.

This question paper is divided into 4 Sections - A, B and C and D.

Section A consists of 1 question (10 parts -Objective Type of 1 mark each).

Section B consists of 4 questions (2-5). Each question carries 1 mark.

Section C consists of 5 questions (6-10). Each question carries 2 marks.

Section D consists of 4 questions (11-14). Each question carries 4 marks.

Internal choices are given in all 4 questions.

SECTION A
(Each part of the question carries 1 Mark)

What does URL stand for?
a) Uniform Resource Locator
b) Universal Registration Link
c) Unique Resource Locator
d) Unified Resource Link
URL &l #AdcIe T §7?

a) T REd oy

b) Ffader SrEeerE foleh

c) gfAew A dliehe

d) FTsHrss REw forem

Ans

a) Uniform Resource Locator a) gABA A eliehey

1 Mark for correct identification of the related term.

1(ii)

Which normal form ensures that every non-key attribute is fully
functionally dependent on the primary key, avoiding transitive
dependencies? &l & AT &9 Ig FARHT el ¢ & g3 IR-
Fofl faRIver gt oRe & wraffs Foft W 3R &, gehats HeiRansi @
o §7

a) INF

b) 2NF
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c) 3NF
d) None of the above / 3Uad # & &I$ eI

Ans | c) 3NF c) 3NF
1 Mark for correct identification of the Normal form.
1(iii) Which HTML tag is used to define the main heading of a document?
forell eedasT & Heg M T TRIMVT A & v g HTML a7
39T foRaT STaT 87
a) <h1>
b) <head>
c) <heading>
d) <title>
Ans | a) <h1>
1 Mark for correct identification of the HTML tag.
1(iv) If the elements “17, “5”, “8”, and “9” are placed in a stack and are
removed one at a time, in what order will they be removed?
gfg element "1", "5", "8", 3 "9" & U stack H TW@T ITaT § 3T T
IR # ger fear Srar §, aF 3¢ e sF & gerr Swen?
a) 1,5,8,9
b) 9,8,5,1
c) 5,1,8,9
d) 9,8,1,5
Ans | b) 9,8,5,1
1 Mark to identify the order of removal from stack.
1(v) Tag is used for making the text /talic.
EFEe A 3o W & T & 1 3TAT @ B
Ans | <I> or <i>
1 Mark for writing the correct HTML tag.
Note: Deduct 2 mark for not writing the tag without < > symbol.
1(vi) In C++, the operator is used for arithmetic addition.
C++ #, 3RyAfReH tfes & fov 3TeX &1 39neT forar
ST gl
Ans | Addition Operator (+) or +
1 Mark for writing the correct C++ operator.
Note: Do not deduct mark for any spelling mistakes.
1(vii) ‘Class’ keyword is used to define a class in C++. True/ False
‘Class’ 18 & 3UANT Al ++ H Th Folld &l IRHAT I & fow
T ST §1 TI/3HcT
Ans | True qca
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1 Mark for correct identification.

1(viii)

Break tag <br> in HTML have both opening and closing tags.
True/ False

HTML # break tag <br> & @elel 3R §e gl aleil a7 gl & 1Hca/3/

Ans

False kirari)

1 Mark for correct identification.

Direction: In the questions given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct
option out of the choices given below in each question:

fader: & fGw a1 geat &, FuUa (A) IR FROT (R) & ¥7 # AT ar
HUT &1 T IR H T T 10 fahedl H & T fased &1 aad
e

1(ix)

Assertion (A): The COUNT () function in SQL is used for counting
the number of rows in a result set.

Reason (R): COUNT () returns the number of rows that match a
specified condition in a SELECT statement.

. Both (A) and (R) are correct and (R) is correct
explanation of (A).
[I. Both (A) and (R) are correct and (R) is not the correct
explanation of (A).
.  (A) is true but (R) is false.
IV. (A) is false but (R) is true.

FY4 (A): SQL F COUNT() Wl &l 3UANET Ueh IROMH TS H UiFaar
$r ge&ar A [T & fOw Far Srar g

HROT (R): COUNT() 3« dferdar fr T&am & arad adr & sit SELECT
e A Afcse oad & @1y A @rar gl

I (A)AR (R) ar=r @& g 3R (R), (A) Fr T8 e gl
. (A) 3R (R) ar=r @&r g 3R (R), (A) Fr F&r carear @@t
gl
. (A) IF g ofre (R) 38T B
IV. (A) 38T § afdad (R) TcT B

Ans

l. Both (A) and (R) are correct and (R) is correct explanation
of (A).
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. (A)IR (R) gt @ & 3R (R), (A) FT € =are &

1 Mark for correct identification.

1(x) Assertion (A): LAN (Local Area Network) is limited to a small
geographic area.
Reason (R): LAN connects computers and devices within a localized
space, such as a home, office, or campus.
.  Both (A) and (R) are correct and (R) is correct
explanation of (A).
II.  Both (A) and (R) are correct and (R) is not the correct
explanation of (A).
lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true
FU4 (A): LAN (TUEHT 8T sicas Hl T Sic dlamfos (@7 3 &
qfaa R S gl
FROT (R): LAN X 3 3TN &l Teh TGN &7, o o 0,
FrATerT, a1 HEad, H ST g
l.  (A)3R (R) a4l &@gr § 3R (R), (A) ST & <arear gl
. (A) 3R (R) ar=r T&r g 3R (R), (A) Fr T&r carear 7@t
gl
. (A) §F § ofhad (R) 30T g
IV. (A) 38T ¢ dfehed (R) T B
Ans | I. Both (A) and (R) are correct and (R) is correct explanation of (A).
l. (A)3R (R) a4t @@r g 3R (R), (A) & T eaream gl
1 Mark for correct identification.
SECTION B
(Each question carries 1 mark)
2. Define array in C++.
C++ H W &I gRATRT Y|
Ans | Itis a collection of elements of same data type which are stored in

contiguous memory locations.
Syntax: A[]
Ig Uh THATA 3¢T TR & UTlHC &l TIE g ol oPNdR HART T 37

W AT gl {eaT A ]

1 Mark for any correct explanation/definition of array.
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(Do not deduct marks if syntax is not written)

Write syntax of for loop in C++.

C++ # "BR" oUW 1 [&dea fod|

Ans

Syntax of "for" loop in C++:

CH++ & "®R" o[d &1 &

for (initialization; condition; increment)

{

/I code to be executed

}
OR

for (expression 1; expression 2; expression 3)

{

/I code to be executed

}

Statement 1 / initialization: executed once at the beginning.

YEINT H Ueh IR fasarfed fomar aram

Statement 2 / condition: evaluated before each iteration, and if true,
the loop continues; otherwise, it exits.

Sl GRERd & g Hedishel fhar Siam §, 3R afe &= §, o o Sy
QT & 3T, Tg STER {oihel Sl

Statement 3 / increment: executed at the end of each iteration.

Yl GeRIgR & 3id & fFsaried|

1 Mark for any correct syntax of for loop.

(Deduct 2 mark for any syntax error)

Define 2NF.
2NF & 9™ g fifev]
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Ans | A table is in 2NF if it is already in INF (First Normal Form) and no
partial dependency exists.
OR
A table is in 2NF if it is already in 1NF (First Normal Form) and no
partial dependency exists.
T ReRE/ad/3esd 2NFH § I I8 9ol & &7 INF & § 3R a5
qifeier f39sdr sigr g
Example of Second normal form (2NF)
Students
IDSt | LastName | IDProf | Prof Grade
1 Mueller 3 Sehmid 3
2 Meier 2 Borner 4
3 Tobler 1 Bernasconi | 6
Startsituation
Students ﬂ Professlii:ult aternommalisation
ID | LastName IDProf | Professor
1 | Mueller 1 Bernasconi
2 | Meier 2 Borner
3| Tobler 3 Schmid < Relation is in
Grades 2NF
IDStIDProf | Grade
1 3 5
2 2 4
3 1 6
1 Mark for any correct definition of 2NF(Second Normal form)
Y2 mark for any example/diagram of 2NF
Write the syntax of delete a Table in SQL.
SQL # T table delete a1 & fav fEeww ford|
Ans | DROP TABLE table_name;

1 Mark for correct syntax of delete table in SQL.

Deduct 2 mark for any syntax error.

SECTION C

(Each question carries 2 marks)

Create a table named 'student' to store information about students of
a class. The table should have the following columns:

Teh HaTT & SEl & dR H AR HIET Hlel & U 'student’ ATHF
U table §e1U| table # 3% column g =fRT:

student_id (integer)

first_name (varchar)

last_name (varchar)

age (integer)

grade (char)
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Write the SQL statement to create the 'student' table with the

specified columns.

fafése Column & TTY 'student' table sdTY & T SQL Statement

|

Ans

CREATE TABLE student

(

student_id INT,

first_name VARCHAR(50),

last_name VARCHAR(50),

age INT,
grade CHAR(1)

);

The above SQL statement creates a table named 'student’ with the

following columns:

student_id of type integer,

first_name of type varchar with a maximum length of 50
characters,

last_name of type varchar with a maximum length of 50
characters

age of type integer,

grade of type char with a length of 1.

39 SQL YT ¥ 'student’ difoier gadr § o9d PFafaf@d &@OH &

student_id TSI &R integer &,

first_name /9T WR varchar § 3R sg&r 31f¥sdd o«s 50
CL

last_name ST YR varchar § 3R 3@ 31f®%dH &5 50
ol g,

age ST YR integer g,

grade fS@&T YR char & 31X sHdY o@s 1 &1

2 Marks for correct syntax.

Deduct 1/2 Mark for each syntax error.

OR
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Explain any two DML Commands in SQL with example.

3ETEX0T & A1 SQL #H T off & DML Commands &1 sarear |

SELECT Command:

e The SELECT command is used to retrieve data from
one or more tables.

e It allows you to specify the columns you want to
retrieve, apply conditions using the WHERE clause, and
include sorting and grouping operations.

INSERT Command:

e The INSERT command is used to add new records
(rows) to a table.

e |t allows you to specify the values for each column in
the new row.

UPDATE Command:

e The UPDATE command is used to modify existing
records in a table.

e It allows you to change the values of specific columns
in one or more rows based on specified conditions.

DELETE Command:

e The DELETE command is used to remove records from
a table.

e |t can delete all records in a table or only those that
meet specific conditions specified in any clause.

SELECT ##Ts:
o SELECT &#AIE & 393197 U AT U & 31 difera3il & 3er
UIed R & foT fRAr ST g
o SHPI AT H Y dg TAH TISC T Hehdl ¢ S 3T UIed el
g 8, WHERE Fllol & 39T e Rl &1 o aX dJehd
g, 3T ATy 3 FHEOT AT AAT HT Fhed 8
INSERT ##Ts:
o INSERT &#(8 & 39T oI5 IS (WieFddr) & difeler H Sis &

e forar srar &
o SHH FEIAT @ 3T 78 Ufdd & Tedeh T & AT Heg Tose
X Fohd gl
UPDATE ##Ts:
« UPDATE &S &1 39T dlfciehr # Al Repls &l Fifera ate
& forw fhar Srar B

o FHH WEIAT @ 3T AT T & HeAl F wF A1 UF § dfAE
gfFaal # dco g g, ot Afese Rufaat gv smeafia &
DELETE #His:
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o DELETE F#H3 & 393l difeld & Reapis gesr & faw Far sar
gl

o Y difore & T3 RelsT & g1 ST Tohdl § IT hdd 3og
GEIAT ST Hehell & it Tt fafdrse feufa & qur & ¢ o fonelt
ot Folfer & Afese Fr I 81

1 Mark each for any correct definitions of the two DML Commands.
(Maximum 2 marks)
Do not deduct any marks for spelling mistakes.

Define constructor in C++ with an example.
3GTEX0T & AT C++ H Tdh deegaed HI IRAT™T Y|

Ans

Constructor in C++:

A constructor in C++ is like a special function inside a class that
runs automatically when we create an object. It helps set up the
object or do initial tasks. It has the same name as the class.

C++ H Focael:

C++ H hoigdel T [aY TEET Bl g ol Taoog ®T & doldl g oid
&9 Ush 3ifsoide IaTd gl SHPT AT FoIiT & AT aiar § 3R IJg
ifealeFe & 3T HEGEAT HI IRH I AT A HCHT ATRAA el & oI
393197 I &l

Example:
#include <iostream>

class SimpleClass {
public:
SimpleClass() {
std::cout << "Hello, | am a constructor!" << std::endl;

2

int main() {
SimpleClass myObject;
return O;

}

Output: Hello, | am a constructor!

In this example, when we make an object of SimpleClass, the
constructor automatically runs and says "Hello, | am a constructor!" to

let us know it's doing its job.

3IgI0T H, SimpleClass FI U 3ifeoide dlled W Fhocaed FaTog &Y

¥ oI § 3 IE "Hello, | am a constructor! "33<YC & &

1 mark for any correct definition.
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1 mark for correct programming example.

Do not deduct any marks for any spelling mistakes.

Deduct 1/2 marks for any syntax error.

Give full marks if programming example is clearly explained and no
definition is given.

Explain MAX( ) function in SQL, providing its syntax and an example.
SQL # MAX( ) &l & THATY, 3THT [bead AR Teh 368I0T Uit
ey

Ans

The MAX( ) function in SQL helps us find the biggest value in a
particular column of a table.
SQL #F MAX() %I &3 diferal & Tah aflIse &9 7 d98 93 Fed &

qdT o9y H Ace Hiar &l

Syntax of MAX( ) function:
MAX() %aereT Fr ada:
SELECT MAX(column_name) FROM table_name;

For Example:

We have a table called scores with a column named marks. We can
use the MAX( ) function to find the highest score in the marks
column.

3ET8I0T & foIT: H U difelel & ToI@ehT a1 'scores' & 31T 3T 'marks’
ATHS DI gl §H MAX() Berlel HTI 39T Hlah 'marks' HleldH H TaH
3TT 3% Tl THhd &

student
_id name age Marks
1 Amar 18 85
2 Binu 19 92
3 Chetan 17 78
4 Dolly 20 95
5 Ekta 18 88

Query: SELECT MAX (marks) FROM students;

MAX() function helps us find highest marks in the marks column of
the students table is 95.

39 SQL Fa{ ¥ §H 'scores' difiT & 'marks' Hicld H TIW 3TI AT
gred X T § At 95 B

1 mark for any correct definition of MAX( ) function.
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¥> mark for correct syntax.

Y2 mark for any correct example of MAX( ) function.

Deduct 2 marks for any syntax error.

Even if there is a spelling mistake other than syntax, do not deduct

any marks if the concept is understood.

How to insert image in a web page using HTML?

HTML T 393197 &k a9 Ul H SHST ¥ JEATId d?

Ans

To add image in a web page using HTML, we can use the <img>
tag. Syntax of Image Tag:

<img src="image_path.jpg" alt="Description of the image">

where:

<img>: This is the image tag.

src: It specifies the source or path of the image.

"image_path.jpg": Replace this with the actual path or URL of your
image file.

alt: It provides alternative text for the image, which is displayed if the
image cannot be loaded.

Example:

<img src="my_image.jpg" alt="A beautiful sunset">

The image file "my_image.jpg" is displayed on the web page, and if the
image doesn't load, the text "A beautiful sunset” will be shown.

HTML ST 393197 &k dd Uol | SHS Slisal & oI, 7 <img> &I &l
39IRT HT Thd &1 SHST ¢dT I [hcaa:
<img src="image_path.jpg" alt="gdAs &1 @AaIor">
TgT:
e <img>: I§ A &I &
e src: 3UH SHS & Fid AT 9Y Afcse Far gl
« "image_path.jpg": 38 319eil dEdide SHST BIS & 9 AT URL

q dcell
o alt: 380 A & v dFfeds U6 ek 8T &, S If¢ saer i
STET & Fehdll g o fe@mar Srar gl
3cTgur:

<img src="my_image.jpg" alt=" A beautiful Sunset ">
ST 38T A, a9 Uo7 W "my_image.jpg" wise fe@rs smwel, 3k Ife
SHST WIS =gl &Idr &, ar "A beautiful Sunset" ¢aee R@MAT FATTI

1 Mark for correct syntax of <img> tag.

Y2 mark for correct explanation to add the image.
Y2 mark for any correct example to add image.
Deduct 2 marks for any syntax error.
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Do not deduct any marks for not giving any example provided that
syntax and explanation is adequate.

10. Rahul, a 12" grade student, wants to communicate effectively with
classmates and teachers by utilizing email. He regularly uses email to
share notes and homework, highlighting the usage of technology in his
classroom and life.

12 &Y &I T o1 g, SHT T 39T Fah gguriear 3R et & Iy
JHTAT &7 T Hale HAT A8dT ¢l dg Aaf@d & & aew 3R geas g
A & [T SHA T 3TN FAT ¢, AT HTeiT HaT 3R SiaeT 7 Figahr
& 3UANT &l 3ER HT gl
I. Rahul wants to send an email to his classmate regarding an
upcoming assignment. Which field should he use to specify the
recipients?
Rahul &I 39sT FTEAT FI AT FATSAHC & aR H U sHd AT gl
3N et # [AfEse R & T FiT A1 T 3TAIT FAT ART?
a) To
b) Subject
c) Attachment
d) Body
Il. While communicating with his teacher, Rahul wants to include one
another classmate in the conversation. But he do not want to reveal
his classmate's email address to the teacher. Which field should he
use?
It fAgTh & FIY Halg d AT, g Teh GEY HEUTS! &l aTcdid H
IS AT ATEAT | Afhed T8 39T HEUTST T SHT UdT [AGTH T Agl
JdTAT ARAT| 38 fohd &7 I 39T AT A1igu?
a) To
b) cc (Carbon Copy)
c) bcc (Blind Carbon Copy)
d) Subject
Ans l. b) To
Il. c) bcc (blind carbon copy)
1 mark for correct identification of To field.
1 mark for correct identification of bcc field.
Do not deduct any marks for any spelling mistakes if option name is
correctly written.
SECTION D
(Each question carries 4 Mark)
What is Queue Data Structure? Write an algorithm to insert an
element in a queue and explain insertion with the help of an
11. example.
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Queue 3T TITAT T §? Queue H TH element 3ol & foT T
TedliReHA ford 3R 30T & A1y <Iredr Hi|

Ans

Queue is a linear data structure that follows the FIFO (First-In-First-
Out) principle and allows insertion and deletion operations from two
end that is ‘front’ and ‘rear’.
Real-life examples of a queue is passengers waiting for a bus at a
bus stop. The first person to arrive at the bus stop is the first one
who gets on the bus.
In a queue:

e Inserting an element in queue is called enqueuing.
g U AWF a1 H@TTeA § S FIFO (HEE-3o1-Ee-313¢) Tleeid &t
aree e § 3R & BR ¥ afFAes 3R faeiue dEree @ aegEfa &
g S 'me' 3R 9 g
¥ ¥ adfas Sae F 3STEIOT aF FIT R a8 $HT JolieT X E IE &
IO T W GgT dTell Tgell SATF Tgell SARF § Sl 9§ W S5 &l
T Fg H:
* ¥ H TF UelHc STelel 1 enqueuing &gl ST gl
Algorithm for Enqueue / Insertion of an element in a queue:

1. Check if the queue is full.

2. If the queue is full, return overflow error and exit.

3. If the queue is not full, increment the rear pointer to point
to the next empty space.

4. Add the data element to the queue location, where the rear
is pointing.

5. return success.

OR

STEP 1 START
STEP 2 Store the element to insert
STEP 3 Check if REAR= MAX-1 then write Overflow else goto step 5
STEP 4 Check if REAR= -1 then

set FRONT=REAR=0

else

set REAR=REAR+1
STEP 5 set QUEUE [REAR]=NUM
STEP 6 STOP

Example: Given below is the Enqueue operation in a queue.
3CTER0T: S T T Uk FY A ToAwg TR &

Let the Initial Queue is :
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10 |20 |30 |40 |50
Front Rear

Enqueue Operation (Inserting 60):
1. Check if the queue is full: No
2. Increment the rear pointer to point to the next empty space
i.e. Rear=Rear+1
3. Add the data element (60) to the queue location, where the
rear is pointing now.
4. Return success.

10 |20 |30 |40 |50 |60
Front Rear

Now, the linear queue becomes 10, 20, 30, 40, 50, 60 after inserting
the element 60 at the rear.

This sequence of operations demonstrates the enqueue operation in
a linear queue.

AT ST o gRiAS F &

10 |20 |30 |40 |50
he FEES

TAFg AU (60 SoHC HTA):

131%%%3*{@?%@

2. 3Tl @rell ¥ATA 3T e & fav RIW & Jgrv: Raw = Raw + 1
3. STgT NI 319 fd & @I § 39 TA W 3TT dcd (60) S|

4. gFa" Nl Y |

10 |20 |30 |40 |50 |60
e R

dcd 60 3Tl & a1¢ 3@+ +ar 10, 20, 30, 40, 50, 60 & ar &1 57
T 8 T AR & & velay AR &7 9e&iid & gl

1 Mark for any correct definition of queue in data structure.

2 Marks for any correct algorithm of Enqueue/ Inserting element
operation in queue.

1 Mark for any correct example of queue insertion.

Deduct 2 marks if there is any syntax error while writing algorithm.
Give 1 mark if only diagrams or example is given without definition
and algorithm.
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OR

Explain Selection Sort in detail with an appropriate example.
Tsh 39 3aTeX0T & A1Y selection HIE HT TEAR & FAST|

Selection sort:

e It is a simple and efficient sorting algorithm that works by
repeatedly selecting the smallest (or largest) element from the
unsorted portion of the list and moving it to the sorted portion
of the list.

e The algorithm repeatedly selects the smallest (or largest)
element from the unsorted portion of the list and swaps it with
the first element of the unsorted portion.

e This process is repeated for the remaining unsorted portion of
the list until the entire list is sorted.

Let us consider the following array as an example: {64, 25, 12, 22,
11}

First pass:

For the first position in the sorted array, the whole array is traversed
from index 0 to 4 sequentially. The first position where 64 is stored
presently, after traversing whole array it is clear that 11 is the lowest

value.

64 25 12 22 11

Thus, replace 64 with 11. After one iteration 11, which happens to
be the least value in the array, tends to appear in the first position
of the sorted list.

11 25 12 22 64

Second Pass:
For the second position, where 25 is present, again traverse the rest
of the array in a sequential manner.

11 25 12 22 64

Downloaded from cclchapter.com




After traversing, we found that 12 is the second lowest value in the
array and it should appear at the second place in the array, thus
swap these values.

11 12 25 22 64

Third Pass:
Now, for third place, where 25 is present again traverse the rest of
the array and find the third least value present in the array.

11 12 25 22 64

While traversing, 22 came out to be the third least value and it
should appear at the third place in the array, thus swap 22 with
element present at third position.

11 12 22 25 64

Fourth pass:

Similarly, for fourth position traverse the rest of the array and find the
fourth least element in the array

As 25 is the 4th lowest value hence, it will place at the fourth
position.

11 12 22 25 64

Fifth Pass:

At last the largest value present in the array automatically get placed
at the last position in the array

The resulted array is the sorted array.

11 12 22 25 64

QotarersT QifeT :

* FE Th Tl 3N FAS FEH TeIRYA § i1 FqEAT & 3ads e @
TR-IX FEH DI (AT F9Y 93) dcd N T A AR 0 AT & Fic
frw aTT RBET & o JAER FIH FT g
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* THINLA IR-GR T & IdIce HAET @ o8 oI (1 Jod ) TlerdAe
AT TIT FAT & IR 3T =G H9T & Igot deg ¥ TIT T B

* g 9fhar T & AV e T & AT a9 % aledrs STl § e
oo o g0 TR T shATeY g AT S|

313U fArAfaf@a aoft & U 3qeor & ®9 # W {64, 25, 12, 22,
11}

Ygell YTdH:

shAdeH TN A ugell el & AT, Q¥ &ol &1 eThiaAs &7 & gsod
0 ¥ 4 d& 28 famar Sfrdr &1 ggel Al 5@l 64 addAe & €I 8, Q@
WOl T IR A & dc Jg TI5€ ¢ b 11 G908 A o7 ¢

64 25 12 22 11

SH 9HN, 64 F 11 ¥ Jaol| & TREM 11 & a1, St 6 wwol & ga@
A A g €, FAGCY TAT H dger Rufa #F @rs &ar ¥

11 25 12 22 64

qHY 4TH:
qudr Reufa & forw, ST 25 #Aisig &, T & A9 wolr &1 3rphias Tl
¥ 9 A

11 25 12 22 64

o A & a6, gHS TR 12 Wl F eI’ wew FA A Y 3R s
ot & g@k T R @S &1 AT, 38 THR 3T AW A TT H

11 12 25 22 64

JRRT 9T
39, I TA F AT, Sei 25 AlSg g, B F arehr wol # aR R
AR WOl 7 Algeg e w90 FA7 AT e

11 12 25 22 64
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¢affer o FAT, 22 TERT G FHH Hed [herl 3R I5 WO 7 I
T W G@rs & @Ry, 39 YR 22 & R T R ANG dcd &
Y &7 A

11 12 22 25 64

gt g

T YR, Y T & orw v ol & grR & 3k ol &7 diur gea
BT ded @iat

Yfeh 25 TIAT HIH A AT g, SAGT 3§ Y T R @M AT

11 12 22 25 64

CIBCIRCIEE

Ia A ol 7 Al w98 J371 AT Toaifad &7 & WOl 7 3ifaq wumer
9T 3T AT &

oY &R0t ATy &l B

11 12 22 25 64

1 mark for any correct definition of selection sort.

3 marks for correctly explaining the concept of selection sort with
example.

Deduct 1/2 marks for each mistake in any step/pass.

Do not deduct any marks if explained correctly and no definition is
given.

12.

Define Software Development Life Cycle (SDLC). Explain any 3
phases in detail.
arFeaR e Sfiael gsh (SDLC) & g™ &Y| fhegl 3 aRol &l

faear @ gHsST|

The software development lifecycle (SDLC) is a step-by-step process
that helps development teams to build the highest quality software at
the lowest cost. SDLC help to plan, analyze, design, test, deploy,
and maintain software.

Different phases of SDLC are as follows:
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Requirements gathering and analysis or Survey

N

Feasibility study or Investigation and Fact Recording

W

Software design
Development or Coding

1

Testing

(2] -h
S N N N N N N

Implementation

~

Maintenance

Requirements gathering and analysis or Survey: First phase of
SDLC is to collect the requirements from customer. Survey is the
part of Requirement gathering phase of SDLC. Survey is the best
technique to collect the requirements. We can do survey with
following techniques:

1. Interviews

2. Questionnaires

3. Observation

4. Sampling

Feasibility study or Investigation and fact recording: It is a part of
Requirement analysis phase of SDLC. All the requirements collected
through surveys are investigated in this part. Feasibility study means
to check if it is possible to make the software or not. After
investigation of the requirements, final facts are recorded for analysis.

Software Design: The next stage of SDLC is the Design phase.
During the design phase, developers and technical architects start the
high-level design of the software and system to be able to deliver
each requirement.

Development or Coding

This phase of SDLC comes when we have gathered the requirements
and when our design is ready. The software developer starts coding
according to the requirements and the design.

Testing

Testing is done before the software is delivered to customers so that
the software exactly matches their requirements. Testers usually find
errors or bugs in the software in this phase. There are two types of
testing methods:

1. Black Box testing: The technique of testing without having any
knowledge of the interior workings of the software is called black-box
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testing. The tester cannot see the code but only can use the
software to find any bugs or errors.

2. White Box testing: White-box testing is the detailed investigation
of internal workings of the code. White-box testing is also

called glass testing or open-box testing. In order to perform white-
box testing on an application, a tester needs to know the internal
workings of the code.

Implementation

In this phase, the system is installed to support the required function
for which it is developed. It includes user notification, user training,
installation of hardware, installation of software onto production
computers, and integration of the system into daily work processes.
This phase continues until the system is operating in production in
accordance with the defined user requirements.

Maintenance

The maintenance phase of the SDLC occurs after we have delivered
the software to the customers. Maintenance of software can include
software upgrades or any error or bug fixing which the customer
finds.

AIFCIW SoNfaaRer gaffaafier i g emar g o digedR fasfdd &
& T SoifaaRer fRAewidl 3R deeliel &1 3TAeT HdT &

SDLC & Tffiest TRUT 30 YR &:

1) 3MARIHATT Thd el AR faewor a1 g

rfafafodT sreags a1 s 3R thee RepifEar

N

w

H H’CCH-I*{ ISo'II$c'|
SgogHE IT HIf3T

)
)
4)
) efEear
)
)

D Ol

SFCATHC AT
Head

~

TIRASAIT Tehy LT iR faeayor ar g

SDLC &I Ygell TRUT ATgh & HTARIARAIN Pl Thad AT &l Id SDLC
$I HTIIHRAT HIE TIOT T GEAT g1 HTIIRATHT Fl Tehad el & folw
T gl 3= el &1 gH Aefai@d dedlsr & I T Ihd &
1. Or§dTcah R

2. geaATdel
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3. 3ifeoRazr

4. dFqferar

FrfSfaferd sreaga ar s AR $hee Repifsar

Ig SDLC &I 3Taegehdr TaelNuT TROT &l Teh R gl 30 AFT #H T &
ACTH ¥ UHT FI 315 T HGLARAIT T ST HT Sy &1 iafafed
YIS T Y Ig AT g [ TFedI 9T THT § AT ATl
ITERTHAT H T & ai6, FLAvor & v 3ifaw a2y o Fr s &
PSIL e L e |

THSTAAT T 3ETAT TROT f3omsaT TROT &1 f3aisel TROT & ek, STy
AR el 3nfdheare Ycdeh ITaRIHAT A QU Fel H HEH gl & o
Hircad R REea 1 3Ta-Eliy Basa gF #d g
3da9HT AT SIS

SDLC & Jg TROT d9 3Tl § S g IS I SHeaT F ofd &
IR I9 gART BT IR & Sdar &1 TedW STAR 3TaRITSRaniit 3R
fSSiISeT & 3TER SIS Y& HaT &

[ATEeC|

AIFCIAT T ATEh! Teh Tl & Tgel SR fohar Srar & ifeh divred s
3eTehl JTaRTRAT & fooshel Aol WIAT &1 TeTeh HHAAR W 37 W1 &
HIFecaT H AT A1 &9 Gad & eeeer faftr & w1 giel &

1. sl Sy f¥ear: AFedIX &7 3RS FRAYUTN & AT & &=
T T dhelleh BT solh-aiad STEEI gl ATl &1 TIeTH HIS 78T &
Hehell § ofdhet Shder &1 a1 AT &1 @Wialet & v dfFeday &1 39T
X Fhdl gl

2. EISC_SIFH SICIT: QISc-aIFd CITedl g HT HTARS HRAVUT dhr
faeqa St 81 cersc-aied R &l s SR a1 Jue-aied R
i T TaT B fRdT Tahed W cgTse-digd ¢feedT el & folu, Tsh
q{I&Teh T HIg ST AR HRIYUMeN &l Slleler T TaThdT aidl gl
SECIHCAA

39 WOT H, TATCH P TaTF Harled HT THATT el & fov Tamad
frar = & S fow 58 Refa frar = &1 58 39aemehar
TR, ITANThAT TIRALTUT, FISAAT T AT, Icdlead HPeX W
AFeaIR & T 3R S 7 afhansit 7 e &1 v anfde
&1 ¥E TOT a9 dh ST TEAT § 59 e [EeH qReNNT SuReTehd
IMARIRANT &F AR IUEA H FIHA g I T &

HeoAH

THSITERHT & TEWIE TOT AN GaRT ATgehi I AFeII FaRT w &
91E Bicl 81 WIFCdI & TEREE # AT S AT S I A1 §97
Refeger anfAe & @rd & St amgs & e §

¥ marks for full form of SDLC.
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Y2 marks for any correct definition of SDLC

1 mark each for any correct explanations of any 3 phases of SDLC.
(Maximum 3 marks)

Ignore any spelling mistakes in Hindi as well as in English if the
meaning of the word is understood.

Do not deduct any marks if the English version of the word is written
in Hindi. i.e. consider Software or @MFeddR both as correct.

OR

What is white box testing and black box testing in software
engineering? Give an example of each to illustrate your answer.
I SNTAINET F T s ST 3R ol sioa SFEEer &ar g2
YA 3T HT TISC Fel & [T TASh HT U 31807 &

White Box Testing: White box testing is a testing technique that
focuses on the internal logic, structure, and code of the software.
Testers who perform white box testing have access to the source code,
and they design test cases based on the knowledge of how the
software is implemented. The goal is to ensure that each individual
component and the entire system work as expected.

Example of White Box Testing: Imagine you are testing a function in
a calculator application that adds two numbers. In white box testing,
you would look at the actual code of the "add" function. You might
design test cases to check if it correctly handles positive and negative
numbers, if it works with decimals, or if it handles edge cases like
adding zero.

Black Box Testing: Black box testing, on the other hand, is a testing
method where the internal logic, structure, and implementation details
of the software are not known to the tester. Test cases are designed
based on the specifications and requirements of the software. The goal
is to ensure that the software functions as intended, regardless of its

internal workings.

Example of Black Box Testing: Consider testing a login functionality
in a website. In black box testing, you don't need to know how the
login code is implemented. You would design test cases to check if
the login works with valid and invalid credentials, if it handles password
recovery, and if it redirects users to the correct pages upon login.

White box testing involves checking the internal
code and logic of the software, and an example could be testing a
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sorting algorithm to ensure it correctly arranges elements. Black box
testing, on the other hand, focuses on the external functionality without
knowledge of internal code, and an example might be testing a search
feature on a website to ensure it returns relevant results without
knowing the underlying search algorithm. Both testing methods are
crucial for comprehensive software quality assurance.

e T qHEToT:

e Sierg geToT Teh TI&TUT dehelleh & ol HTFedAT & HdRe deh,
T, 3R A3 W Higd &1 I8 T S The Siod TET0T W 8, 30
AT HIs T 9gd B g, 3R 3eglel FFIW & HA 3T ) T & A
SRR & IMUR I & Hd 38 v rd &1 s9r 3587 &
GRARIT el foh Tcdeh gidd gesh IR R @Fea & 37die & AR
HH I ol

Whe S ILI8TOT HT 3ETET:

T & 3T Th Holpelex Tl # & AR Siigel dlel Teh Herlel I
ST FT g &1 e dSirm TIeur H, 39 "IN BT & JEdide IS

X A STeldl| 3T Tg dF X Hohd ¢ [ Ig el dig & FPRIcHS IR
ThRIcHS JEIATHT T TET T 3TN LT g, IT TE SIRT I SAsed & Iy
SO FrEAAT Bl

sole d1Fd gdeToT:

soleh dferd 9dIeTor, qEdl 3, U gdietor fAfYr § fores |ieaaw &
IR e, T, AR IR T AT TFX & GIH AT Gl g1 TEE hA
faerwarar 3R maegeRdst & 3R W f3arsa fhe ara &1 g8 3eced
¢ GAREd e foh AiFcaT sfeod & § #H AT ¢, T6 36
3RS FH Fo o gl

s aiFd JHETUT HT 3EEIVT:

U JGASC H clfale] HIYETHAT HT UIETOT FLAT PIS 3ETL0T g soleh
Sied 9UGTOT H, IS TE AT IdT Bial o SN i H¥ 9] fapar amr
g1 3T IF gRARET F& & v ke Fu Bamsd #E & @ 3R Tea
YHTOT AT & @Y AN HT §, FIT Tg IHas JoAdIed S HHTeIel g,
3R AT g AT A T STAMRAIT Al TE gl W GATAGRIT e
gl

e dfed TRETT F FFERR F HdRF FI5 3R aF
£ S g ¥, Y fF dedt A WO G F FAEey AW & AU i
TINREH T GUETUT HYeAT| Seleh Slord TIET0T, q@ll 3R, AR His &
T3 arfgge fharael W Hfea 8, 59 f& e dedge W @ gafed
AT & g et &1 ANfd & A @i § 91 e & giaRad war
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¥ & o aRETeT # HIS aer 87§ S adetor Rt gHgeT 7
Hgcaq &

2 marks for correct explanation of both type of testing.

1 mark each for correct example of each testing.

Ignore any spelling mistakes in Hindi as well as in English if the
meaning of the word is understood.

Do not deduct any marks if the English version of the word is written
in Hindi. i.e. consider Testing or ¢f&&3T both as correct.

13.

What is the purpose of a network, and why is networking essential?
Provide a detailed explanation of MAN and WAN.

T dAcdeh &l 3662T T g, 3R Acafder i 3maeges §? A 3R o &1
faEgd faaRor gerer #X|

Purpose of a Network: The purpose of a network is to communicate
and resource sharing among connected devices. Networks enable the
exchange of data, information, and resources, allowing users to
communicate and access shared services.
Why Networking is Essential:
1. Networking allows seamless communication between devices to
exchange of information.
2. Networks is also used in sharing of resources such as files,
printers, etc.
3. Networking allow users to connect to systems and devices
from different locations.
4. Networking reduces cost of hardware, software, and
maintenance.

MAN (Metropolitan Area Network): A Metropolitan Area Network
(MAN) is a type of network that covers a larger geographical area
than a local area network (LAN) but is smaller than a wide area
network (WAN). MANSs typically cover a city or a large campus. They
connect multiple LANs within a specific geographic area, which gives
high-speed connectivity.
Characteristics of MAN:

1. MAN cover a larger geographical area, such as a city.

2. MAN gives high-speed data transfer within the defined

geographic area.
3. MAN are created with multiple LANSs.

WAN (Wide Area Network): A Wide Area Network (WAN) is a type
of network that covers a very large geographical area, such as cities,
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countries, or even continents. WANs connect multiple LANs and
MANSs, enabling communication over long distances.
Characteristics of WAN:

1. WANs cover a large geographical area, connecting networks
over very large distances.

2. WAN facilitate communication between devices and networks
that are far apart.

3. WAN use various technologies, including satellite links, and
internet connections, to establish communication over wide
distances.

In summary, the purpose of a network is to enable
communication and resource sharing, and networking is essential for
efficient and collaborative functioning. MANs and WANs extend this
connectivity over larger geographic areas, catering to the specific
needs of metropolitan regions and global organizations, respectively.

Aca® HT 3542 U aAcasdh &l 36637 Faldes 3YRL0N & g FarR 3R
TS AIST AT 8| AAcde 3T, ol 3 HHUAT & IMeT-9alT Hl
T&TH A ¢, o 3UAeTehdl 1S JA13T H FalG 3R TFHH HX b
gl

Aeafdr F4i 3T+ &

1. dcafder ol & HE-Yere & U 3ueol & e et dar &
3eTATT & B

2. icdch T 3T FATHAT o Wisdi, e, 377 & s it 7 o
o e &

3. ACAThIT IUFTHATHT T B3 T e AR 3UON & FaAde el S
ITATT & §

MAN (Agifaed TRAT Aeash): T Aol URAT sicdsd (VHATTA) Tdh
JhR I Hcah g Sl TUT & wAecde () H Joiell & U a3 flanfoh
81T I HAH FAT § oAfehe] Teh d158 TRAT Acas (SsegUla) ¥ BIET
THTUA AR WX T AT AT Th §5 IREI Hl Hal d &l 9 Th
faftse simfos & & MR F3 3T F s §, St 3= a1fq FATFear
&ar &l

MAN & faetvare:

1. MAN T §3 sl &7 & Fax aar &, o F & &

2. MAN R #infoe &7 & iax 3Ta aifa 3er gxaioRor &ar g

3. MAN &% LAN & AT §TT 3T g

WAN (arss oiREr Aeash): Teh arss UTRAT Acds (WAN) THh TR &T
ﬁta%%sﬁ%@ﬁ,é@ﬁmuﬁﬁ%ﬂmtﬁé@agaaésﬁ?ﬂmm
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F FHAT FAT &1 5eegUUA &5 ol 3 TATTS AT Siisd 8, orad ofelr
ol W HUR H&TA gleT &

WAN #r faeyare:
1. WAN T 93 #l9nfaish &1F &1 Fal X &, ot 9gd 987 gl W e
@l Sisd gl
2. WAN =1 3uaolt 3R sicash & g TR 1 Giaem verel iar § i
g T ¢
3. WAN &19eh gff W §9R EA1UdT e & fov 3uarg foe 3 se@e
ForerereT Tfed fafdesT deheiiepl T 3YTNRT HIAT gl

Teh Sicdsh &l 36628 AR 3R HaTUe AISTH0T Hl FaTH
AT 8, AR Ferer 3R wgdeh wHwst & fov Aeafdha sraegs g
THAUUS 3T SecqUU $hAQl: AERRIT &1 3R dRae Haresir T fafrse
JTIRIASAIT FI T A T 3 FHiloNfereh &7 H 58 Pelferefacr
fararR & §l

1/2 marks for correctly explaining the purpose of networking.

1/2 marks for correctly explaining the need of computer networking
1/2 marks for each correct definition / full form of MAN / WAN.

1 mark for each explanation of both network types (WAN and MAN).
Deduct 2 marks for writing incorrect full forms.

OR

Explain the following:
farfafaa & sarear fifsv:
i. Firewall / WrERa@rer

ii. Web Browsers / a§ ST39X
iii. SMTP

iv. HTTPS

Ans

i. Firewall: A firewall is a security tool that helps protect your
computer and network from unauthorized access from the
internet or other networks. It can block unwanted or
harmful data, keeping your network safe.

ii. Web Browsers: Web browsers are software that helps you
search the internet, view websites, and perform various
tasks online. They assist you in viewing web pages and
navigating the internet. Examples include Google Chrome,
Mozilla Firefox, and Safari.

iii. SMTP (Simple Mail Transfer Protocol): SMTP is a protocol
that handles the sending of emails over the internet. When
you send an email, SMTP works to deliver it from your
email server to the recipient's server, ensuring the smooth
transmission of email messages.
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HTTPS (Hypertext Transfer Protocol Secure): HTTPS is a
secure internet protocol that enables safe downloading and
uploading of data from websites. When you are on a
secure website (whose URL starts with "https://"), your data
is encrypted, making it difficult for unauthorized individuals
to read it.

PIITElel: Teh HIAIXElel Toh FR&TT SYRIUT § Sl 30 heged
3R Aedd H AT A 3T sAcah § HAFd 9gT § S
H Ace AT &1 Ig ATS-AT IT gifdhReh 3T HI Ah Tohel &
3R 3T Feash H GIRTT W Fehe B

A9 AEF:

9 3R AFeAIX & ST 3MIH el W T e, daSed
F 2@, 3R RAffiea FrRt Ft dTdsT A & Ace FT gl
Ig ISP dF Ul ¢@el IR Sctele H Afgdle el H g
8T &1 388 Google Chrome, Mozilla Firefox, 31X Safari si&
3ETEIOT ATAA §l

SMTP (R#9ar A TAHT FIeThid):

THTACYT Ueh Hlethlol § Sl 3ol X sHd Aol &l
FAT §1 ST T sHA AT &, df THTACIIT SH 3T SHA
AT O Yrcdehdr & JAX Fﬁﬁqgwwﬁ H AcE LT g, Ao Tl
T FATE T § gl & Herdeh @l &l

HTTPS (SBWReHFE THT Welwla JIfard):

TEEATE Teh FIRTT Seieie el § Sl dadsed & saT
SI3aTeis 3R 3Uels e &I FIETT Al S g1 o 39
forell TET deaTse W & & (e 3R "hitps://" & AF
BT §), al 3MT9ehl ST Uleshee §ic §, oI ad 3eiftieh eafeaat
P SH Yol ShideT & Sl g

1 mark for any correct explanation of Firewall

1 mark for any correct explanation of Web Browser

2 marks for full form of SMTP without spelling mistake

Y2 marks for any correct explanation of SMTP

Y2 marks for full form of HTTPS without spelling mistake

Y2 marks for any correct explanation of HTTPS

14.

Explain the following C++ concepts:
fArafaf@a C++ rquromsit & Fase HIfAT:
i) Structure/ TgFaX

ii) Class / sell®#

iii) Object / 3fTesige

iv) Array of Structure / WX 3% TgFdR
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Ans

i) Structure: A structure in C++ is a user-defined data type that allows
you to group together variables of different data types under a single
name. It's like creating a record that can hold related information. For
example, if you want to store information about a person, you might
create a structure with variables like name, age, and address.

FEFAV: C++ 7 TCFR Teh 3TANThAI-AUTRT 3T TR g ST 3maet fafdiest
SeT YT T ST T Uh & AH & ded FHfEd HE H AT T B
SHHT AR & & U S ST S FEAT SATThRT & W& FohdTl g
3CIEROT & AU, 3R 39 fHdl cafdd &I STy @ Fafgd w1 dgd
g, o 39 &, 3y, AR g Sl ARTEeH & A1 Toh TR &l Fehd
gl

Syntax of Structure:

struct StructureName
{
DataTypel member1;

DataType2 member2; ... };

ii) Class: A class in C++ that defines the properties and behaviours of
objects. It serves as a user-defined data type that encapsulates data
and functions working on that data. For instance, if you are modelling
a car, the class would define the car's attributes (colour, model) and
methods (start, stop).

FA: C++ H FoTH T soffiic IT Teh TFUCIC § it lsolded &l T[oTers
3R IRt &I FUIRT wtar g1 I8 T 3uderehdl-AuiRa ser gar &
T A S AT § ST 3T AR 30 W FH A el BeRled S HpfId
AT &1 3eeRYT & fow, afg 39 v &R &1 AT = [ §, aF Fag
HR Fr [FAYATT (@1, Alser) 3R /AT (T, Tera) i gk aem|

Syntax of Class:

class ClassName

{ public:

DataType1 attributel;

DataType2 attribute2;

methodName(ParameterTypel param1, ParameterType2 param?2)

{ /I Function implementation}

2

iii) Object: An object is an instance of a class. It is an entity created
which is based on attributes defined by the class. Using the car
analogy, an object would be a specific car, say a red Ford Mustang.
Objects have attributes (data members) and behaviours (member
functions) defined by their class.

Afeatae: UH 3ifealee U Folld & UF 3GEL0T ¥ Ig U VAT Iaedmel &
ST FITE GaRT IR sgfie & MUR W T[T STl &1 R & 3TAgEdd
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T 3YANT FIA §Y, Th Jfsaide fafrse &R @1 gefiwam, 3emeor & faw,
Teh AT BIS AEAT| Jiieolored & U 3eleh Folld GaRT IR aqorersy
(3eT FeEy) IR A (A beewq) aa

Syntax of Object:

ClassName objectName;

iv) Array of Structure: An array of structure in C++ is a collection of
structures where each element of the array is a structure. This allows
you to store multiple records of related data in a sequential manner. If
you have a structure representing a student, an array of structure could
be used to store information about multiple students in a systematic
way.

W AF FFa: C++ H T TgFaX T W TFAY T TIE ¢ STgl W Hl
Jcd%h ded U TeaR BiIdT gl ST Il F&fAd 3eT & os Rapisd &l
T Hife b T TR A T AHFATT gl g1 I 319 918 T o
I IfTSOIT el aTell TCFAR g, Al TCFAX I W &I 39AT fRAT ST FohdT
¢ Al Ue Foaafedd alih ¥ Fs ol & aX H AER FAfed Hr ST
qeh |

Syntax for Array of Structure:

struct StructureName
{
DataTypel memberi;
DataType2 member2;

..}

StructureName arrayName[Size];

1 Mark for correct explanation/ syntax of structure.

1 Mark for correct explanation/ syntax of Class.

1 Mark for correct explanation/ syntax of Object.

1 Mark for correct explanation/ syntax of Array of structure.
Deduct 2 marks for any syntax error.

OR

Write a C++ program to create a class "rectangle". The class should
have private data members for length and width. Implement a friend
function named “displayArea” to calculate and show the area of the
rectangle. Calculate the area for a rectangle with a length of 3 units
and a width of 5 units using this friend function.

U class "rectangle" §del & folT Tah C++ Ui for&d| &8 & length
3T width & 3T private 3¢T TEET g1 fRT| 3T & &THel I IO
3R RR@= & fav "displayArea" STHe T friend el o] Y| 39
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friend W T 3YATT e 3 FHIBAT T oas 3R 5 sHEAT Hr s
F O T I & AT &Thd &Y 0T F

A C++ program that defines a class named "Rectangle" with private data
members for length and width. It also includes a friend function named
"displayArea" to calculate and show the area of the rectangle:

#include <iostream>

class Rectangle {
private:
float length;
float width;

public:
void setLength(float 1) {
length = [;

void setWidth(float w) {
width = w;

friend void displayArea(Rectangle);

void displayArea(Rectangle rect) {

float area = rect.length * rect.width;

std::cout << "Area of the rectangle: " << area << " square units"
<< std::endl;

}
int main() {
Rectangle myRectangle;
myRectangle.setLength(3.0);
myRectangle.setWidth(5.0);

displayArea(myRectangle);

return O;

Output of the above c++ program:

3YNF_c++ WA HT 3L
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Area of the rectangle: 15 square units

¥> marks for correct header file inclusion.

2 marks for defining class Rectangle.

¥> marks for declaring class variables/members.

¥> marks for defining setLength() function.

¥> marks for defining setWidth() function.

Y2 marks for using friend function in displayArea(Rectangle).

¥> marks for creating object in main function.

Y2 marks for correct output of the program.

Do not deduct any marks for case sensitivity issue (if any).

Do not deduct any marks for spelling mistakes in variable names.

Downloaded from cclchapter.com






